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QUESTION 1

Given:

List listl = new ArrayList();
listl.add("A");

listl.add("B");

List list2 = List.copyOf(listl);
list2.add("C");

List list3 = List.of(list1, list2);
System.out.printin(list3);
What is the result?

A.[[A, B][A, B]]

https://lwww.pass2lead.com/1z0-819.html
2024 Latest pass2lead 120-819 PDF and VCE dumps Download

B. An exception is thrown at run time.

C.[[A B], [A, B, C]]
D. [[A, B, C], [A, B, C]]

Correct Answer: B

QUESTION 2

Given:

List<S8tring> listl

Set«<String>» hsl =

Stringll v = {“a”,

for (String s: W)
listl.add(s);
hel.addl(s) :

}

= new LinkedList<String>();
new HashSet<String>():
I\hﬂ"I '1.1C.I'I'I l\hl'.i' R '1.\a.l'{} '_

System.out.print (hsl.size() + ™ ™ 4 listl.size() + ™ ™);
HashsSet hs2 = new HashSet (listl) ;

LinkedList list2 =

new LinkedList (hsl);

System.out.print (hsZ2.size() + ™ ™ + listZ.size()):

What is the result?
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A.3533
B.3333
C.3535
D.5533

Correct Answer: A

1 import jova.util.®;

Z import java.io.*;

3 import java.lang.Thread;

4 import jova.util.Arraylist;

5 import java.util.LinkedlList;

6 import java.util.List;

7 import java.util.function.Consumer;
& import java.util.stream.Stream;

9 import java.util.stream.IntStream;
18 import java.util.Optional;

11
17
13 - public class Main {
14 ~ public static woid main{5tring[] args) {
15 List<S5tring> 1istl = new LinkedlList<S5tring=(J];
16 Set<5tring> hsl = new HashSet<5tring=();
17 S5tring[] v = {"a", "b", "c"; "b", "a"};
18 - for (5tring s: v) {
19 listl.add(s);
28 hsl.add(s);
Z1 }
27 System.out.printlnChsl.size() + "" + listl.size() + "[');
23 Haosh5et hs?2 = new HashSet(listl);
24 LinkedlList list? = new LinkedList(hsl1);
Fids] System.out.printChsZ.size() + "" + listZ.size());
Fid s
27 1
28 %
Result
CPU Time: 0.28 sec(s), Memary: 36204 kilobyte(s)
35
33
QUESTION 3
Given:
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public class Tester {
public static wvoid main(String[] args) {
String s = "this is 1it";
int x = s.index0f("is")
s.substring (x+3);
¥ = s.index0f ("is");
System.out.println(s+" "+x);

LT

What is the result?

A. hat at store 1

B. An IndexOutOfBoundsException is thrown at runtime.
C.atonceO

D. hat at store 4

E. atonce 1

Correct Answer: A

QUESTION 4
Given:

var numbers = Last.of(1,2,3,4,5,6,7,8,9,10);
f/ line 1
StringBuilder sb = new StringBuilder();
for(int a: numbers) {

sb.append(f.applyia)) -

sb.append (™ "}

}
System.out.println({sb.toString()):;

Which statement on line 1 enables this code to compile?
A. Functionf=n>n*2;
B. Functionf=n>n* 2;
C. Functionf=n>n*2;

D. Functionf=n>n*2;
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E. Functionf=n>n*2;

Correct Answer: A

QUESTION 5
Given: When is the readObject method called?

public class SerializedMessage implements Serializable {
String message;
LocalDateTime createdTime;
transient LocalDateTime updatedDateTime;;
SerializedMessage (String message) {
this.message = message;
this.createdTime = LocalDateTime.now() ;

}

private wvoid readObject (ObjectInputStrcam in} |
try |
in.defaultReadoObject () ;
this.updatedDateTime = LocalDateTime.now();
} catch (IOException |ClassNotFoundException e) {
e.printStackTrace() ;

}

A. before this object is deserialized
B. after this object is deserialized
C. before this object Is serialized
D. The method is never called.

E. after this object is serialized
Correct Answer: B

Reference: https://www.oracle.com/technical-resources/articles/java/javaserial.html
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